MARKING SCHEME FORM 1 PHYSICS 
1. F = M
        V

V= 3 – 2 
= 1cm3√   1
M = 15g 

F= 15g
    1cm3√
= 15g/cm3√

2 a) i) zinc√
ii) copper √

b) polarization√
- Local action√

3. Due to the large intermolecular distance unlike in solids and liquids √
4. The molecules moved from the region of high concentration to the region of low concentration.√
5. Pressure difference due  = pressure  due to mercury to air columns (height of mountain)

Pahag = fm hm g
1.25 x ha = 13600 x (0.75 – 0.52)√
ha = 13600 x 0.23
             1.25√
 
             = 2502.4 metres√
6.  B melt.√ Wooden block is a poor conductor of heat hence retained the heat energy.√

7.They expand at the same rate.√

8.n = 360 – 1
      ⱺ

= 360  - 1√
    60
= 5 images √

7.                                                                                   


[image: E:\EPSCAN\001\EPSON023.JPG]


8. Initially the rod attracts electrons from the leaf to the cap . So the leaf falls. As the rod gets closer to the cap more elections are attracted to the cap so the leaf and the plate become positively charged hence the leaf divergence increases.

b) Detecting presence of charge                  any two

· Identifying the type of charge√
· Detecting the amount of charge√
· Testing for insulation properly of a material.√
9. Most of technological advancement such as phones, computers etc uses Physics knowledge.
10. Pressure is force acting normally per unit area√ SI unit is pascal or N/m2√
b (i) Volume = 30 x 20 x 10
                         100x 100x100  √
        = 0.006m3√
ii) weight = mg
            = 2 x 10
         = 20N√
iii) Maximum pressure = Force
                                       min Area
20 √
0.02

                      
                   = 1000N/m2 √
iv) Minimum pressure = F                    = 20
                                   Max Area               600
					10000 √
			= 20 x 100
			= 333.3N/m2 √

v) Total pressure = Pa + hgg
		= 100,000 + 35 x 1030x 10 √
		= 100,000 + 360500 √
                           = 460500N/m2 √
13 a) A  √ Dull surfaces are good emitter of radiant √
b) ) increase accuracy √
ii) To improve the sensitivity of thermometer √
iii) To protect the liquid √
· To magnify √
c) Good thermal conductor √
- Visible √
- Has a wide range of temperature √
Contract and expand uniformly √
d) Warm air rises escaping through the holes. √  Cold air from outside enters through the doors and windows to occupy the space left by the warm air.√

14.a)The angle of incidence is equal to the angle of reflection. √
- The incident ray, the normal and the reflected ray at the point of incidence √ all lie on the same plane.
b) – Real√
- inverted √
- diminished √

c) The image become smaller √
- The image become smaller √
- Brighter but blurred image √

d) V= 10cm
     U= 6m 
Ho
Hi = 16cm                                         10 = 16    √
                                                            6      ho
                                                     Ho = 6m x 16cm  √
                                                                   10cm
                                     = 96  √
			10
                                  = 9.6m √
15. a) 87.4 – 63.2 = 24.2g √

b) V= 24.2g√
        1g/cm3     = 24.3cm3√

c) 24.2cm3 √

d) 89.5 – 63.2 = 26.3g √

e) 102.3 – 89.5 = 12.8g √

f) 24.2 – 12.8 √ = 11.4cm3 √

g) Density = m
                      v
	= 26.3g √
              11.4cm3
             = 2.307g/cm3 √

16. a) Current is the rate of flow of charge √ SI unit Amperes √

b) Q = 1t √
= 0.25 x 6 x 60 √
= 90 coulombs √

c) A – positive √
B – negative √
C – mixture of carbon and manganese IV oxide  √
D – Ammonium chloride Jelly √

iii) – It is portable √
· Low maintenance √
· Can store charge for a long time without discharging √
· Large amount of current can be drawn from it without being damaged. √

d) Evaporation on the cell reactions cause loss of water.√
- Distilled water because it does not introduce impurities to the cell. √
1

image1.jpeg
- R oo PRSI

&
.
— —O @ _—
ey
2 Jd
— — =

Ao
' X (o7 -
: LANITZ 2 g e &) PR Ao N = Q2 -3 2
( c’ & & &
I_D LA o W 10 - CAQOYioNnX W i y
A ” - -
| P O = E S W
CR A = - - b, - S U1
&> o\ 1S >4 (2 - » YRR = c wASHR!
Q2 AT T OOl X L o L X
L3 4 \
‘ <2 IO Vi VA -0 tao it D Qs b . S0 3 A2
— <
~ O N oo L o b 0 NCO 2 C O 00 =
‘ .
-
obNeterd e 2 b X 0 0s . ARG = .
L 3
=100 Nt =W - 2.0 oy e L &
s e
P
Dote b no (ho RANSPTLS uie -
; A : . O e
- S - =1 P LA U Uy (=2 O5a [ B o =
. o .
- \ ‘ ‘4‘ ) o b’-..! Ce N A o v L Dbt - Q
: ) Y
2 VLO0nNnes OO -t v, = @ \n -0 \Ecd





1

 

 

MARKING SCHEME FORM 1 PHYSICS 

 

1.

 

F = 

M

 

        

V

 

 

V= 3 

–

 

2 

 

= 1cm3

v

 

 

 

1

 

M = 15g 

 

 

F= 

15g

 

    

1cm3

v

 

= 15g/cm3

v

 

 

2 a) i) zinc

v

 

ii) copper 

v

 

 

b) polarization

v

 

-

 

Local action

v

 

 

3.

 

Due to the large intermolecular distance unlike in solids and liquids 

v

 

4.

 

The molecules moved from

 

the region of high concentration to the region of low 

concentration.

v

 

5.

 

Pressure difference due 

 

= pressure  due to mercury to air columns (height of mountain)

 

 

Pahag = fm hm g

 

1.25

 

x ha = 13600 x (0.75 

–

 

0.52)

v

 

ha = 

13600 x 0.23

 

             

1.25

v

 

 

 

             

= 2502.4 metres

v

 

6.

 

 

B melt.

v

 

Wooden block is a poor conductor of heat hence retained the heat energy.

v

 

 

7

.

T

h

e

y

 

e

x

p

a

n

d

 

a

t

 

t

h

e

 

s

a

m

e

 

r

a

t

e

.

v

 

 

8

.

n

 

= 

360 

–

 

1

 

 

 

 

 

 

 

?

 

 

= 

360

  

-

 

1

v

 

   

 

60

 

